


3. You are given the double decrement table:

x l)(cr) d;1) q)(cl) d;(cz) qJ(CZ)
95 - 150 - 0.15
96 - 3o - 0.40 - 0.40
97 -T2 - 36 0.50 36 0.50
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4, Foratrlple decrement table, glven ,u,(cl)(t) = .05t, y(z)(t) = .20t, and )
)(t) = 75t determine 0510.3% Hﬂ = oSttt £TSE
(> ¥ = O
& . zl) (D },(fx
sL30x = Ss V«fe ﬂ(é "
2
/)
o (0 -S maae  =Seat -4
= tt , e -
nx — C = 6
-3 (1) (3) é
SO T <~1 (‘7%)
/S §
3 |
LA A= té (
SRS (
$lm o des A S» . (js)y(
‘ L
A 85
w1 s =32
t O (3> g‘ - (;)5. - 3&
‘< S'l ‘3 6% - < 6



